8:35
8:40

9:36

10:35

10:40

11:12

11:44

12:10

13:00
13:10

13:20
13:30

14:20

14:30

15:26

15:40

16:30
16:40

17:12

H#E R

£ 12182 (1F ADk—IL)

HEoAI2 (OF EORYIH)

FISOEE 1 IR BRItk 8:40
—R%ERE 1 [H9EB A&kl 01~07 —h%ERE 6 [RiEEIIR 3] 27~33
i FoH M (GEEmk) iz BRI S (IR SLR A B
arvr-s— BER Ky (B 2Av=y— FEJI BTG (NS k)
9:36

AR —RE=F+—
R e HIPR (uok)
R B (TR

AR (BrEsesis)
g 7y I AT HVY vy ARIEH

- 10:40 -
—f%EE 2 [TEVAR] 08~11 —fi%ERE 7 [BRERAEIIR 21 34~37
i B 0L R BTSSRk i RofEE ALT Gl
DAvF-s— K FE IR 11 DAVF=y= AN IR (RS ST A LB
—f%®E 3 [EVAR] 12~15 | —hgERE 8 [HRANENR 4] 38~41
i s HIBR Guoks) & EH BFE (UNRFEES TEBA
axvF=s— IIF & GLIESTEEEREE > 5 —) 144 ArvF=s— WP 2 (LR k)
SUFaEEZF—
EER s B HR CRARILSTHR k)
WE RS EH Rk
g HAS A 754 et
YRR
EEE U IEAE (RRIESL L)
wE LR MR Rk
el RA N HATIT A T4 v 7 VxS B A

14:30

. N —f%ERE O [FRMEENR 5- 550k - ZDfth] 42~46
—ARERE 4 [RHEENIR 1] 16~22 B B MR GRERLDRAEE)
Ji& SV o (JA IR BHBARR) TAVF—h— o PEAH B (BHUASE)
A== AR SEGL Ol ER RS MR R 15:10

PIIR—vEZF—

W I RS R 2 S 6 i)

i RHEE KA NS ERASR TR ¥ —)
FIH A GRLEERE Y s —)

Hle - HA T 7 A&

—HEE S [IRERAEMR 1-FAEEIR 2] 23~26
o ORCEA PR k)
e I S s R )

BRAMEE (1A IFAS (BRI el

_10_




